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Code No.
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Candidates must write the Code on
the title page of the answer-book.

FY1 SE W A F 39 999-9 | qfsd U8 16 + 2 9EfET §

e YWH-TF ¥ qMfEA 719 &t 3R T MU &l T4 &I 30 IW-Yaw & q8-78 W fa@ |
e FUF WY W A F 3@ W9-97 ¥ 36 WA T |

o FHUA T @ I TGN YE FW VU, W H wUH I@yd 6@

e 3IH YA-WF & Ued & foau 15 e & 99 fEan T § | WA-F & foawor qatg
10.15 s far S@W | 10.15 & ¥ 10.30 &6 9% BF Had YA-UF & G AR
39 I F IRH 3 IW-YRAH W FE IW T8 fa@ |

e Please check that this question paper contains 16 printed pages + 2 Maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 36 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer
on the answer-book during this period. |
Abfetd URIET - 11
SUMMATIVE ASSESSMENT - II

IJEifsie fas=
SOCIAL SCIENCE

FufiRa g9 - 3 gv2 HfFaq 3F : 80

Time allowed : 3 hours Maximum Marks : 80
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Qg [T :

(i) FT36 T & | T4 337 fad § |
(i) FOF 997 & 3% Y97 & G T 7w § |

(iii) Y97 &7 1 9 16 7% Tgaecqid 597 U-U& 3iF & § | J9% aglasedid
Y97 & G GR f9%cq few 7w & | Hﬁfr&mw#waﬂ-gﬁﬁwﬁ

fefEaa |

(iv) 599 & 17 T 29 7% & 799 di-d17 3iF & & | 99 T JIF J97 &
IR 80 V=<l G 3% F Tg g TRy |

(v) F97 GEIT 30 T 34 7F & Y97 aR-91 3F & & | 579 G J3AF J97 FI
I 100 =< G 374F F7 T8 Fr TR |

(vi) ¥99 Q&1 35 TAET TE= 597 2 3% #7 3aeq § @ & 3N ¥I7 &I 36
qrAfIT GE= 399 3 3% F YNT F G 8 |

(vii) R BT TG I 3794 IR-YRaF F T Gorrd T |

General Instructions :

32/1

(1) There are 36 questions in all. All questions are compulsory.
(1t) Marks for each question are indicated against the question.

(iti)  Questions from serial number 1 to 16 are Multiple Choice
Questions (MCQs) of 1 mark each. Every MCQ is provided with
four alternatives. Write the correct alternative in your Answer-book

(tv) Questions from serial number 17 to 29 are 3 marks questions.
| Answers of these questions should not exceed 80 words each.

(v)  Questions from serial number 30 to 34 are 4 marks questions.
Answers of these questions should not exceed 100 words each.

(vi) Question number 35 is a map question of 2 marks from History
and Question number 36 is a map question of 3 marks from
Geography.

(vit) Attach the filled up maps inside your answer book.
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¥ 1815 ¥ o we &t wemEr e § ¥ e @ 2

(A)
(B)
(C)
(D)

fogaam & a9 1907 § i % @ ¥4 @ren T 2

(A)
(B)
(C)
(D)

Who, among the following, hosted the Congress at Vienna in 1815 ?

(A)
(B)
(C)
(D)

Why was the Tonkin Free School started in 1907 in Vietnam ?

(A)
(B)

(C)
(D)

Hietcivey & T
Sqay AfegHr
g% Hedfa
et ar forema
e

smfr fomn 3% ¥ fom

S S F o T 3

e P Al @ o 23 % R
il =t @ R 2 % R

King of Netherlands
Giuseppe Mazzini
Duke Metternich

Otto Von Bismarck
OR

To provide modern education

To provide western-style education
To provide education to Vietnamese only

To provide education to French children

A es
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1832 @l ‘FEAQHA & G F wEy § fefataa § ¥ 9@ #7422
3G T B UF Gad TF F &9 H g o |
$94 A & TF Wad ¢ & ®9 § AFar 4 |

(A)
(B)
(C)
(D)

SO ST &l U Wad ¥ & 9 § qgar of |

39 WY B TH @ad T & ®9 F Ggar f |

HGAl

foaaam § ‘0 geN Ao & T fefafad & 9 9 91 ?

(A)
(B)
(C)
(D)

wF g &
ferai fereman

B9 95 95

TR G

Which one of the

(A)
(B)
(C)
(D)

following
Constantinople’ of 1832 ?

is true about the

It recognised Turkey as an independent nation.

It recognised Greece as an independent nation.

It recognised Germany as an independent nation.

It recognised France as an independent nation.

OR

‘Treaty

of

Who, among the following, was the founder of ‘Hoa Hao Movement’ in

Vietnam ?

(A) Phan Chu Trinh
(B) Liang Qichao
(C) Phan Boi Chau
(D)  Huynh Phu So
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fag § @ fo5g gusiid @ <fig of & s=g @ &9 faurh ofwer A

ffe

Rferd e fied ?

(A) TGS GEI
(B) iR - sfam g
(C) AT gwsit

(D) T 9 &z T

Which one of the following agreements gave reserved seats to the

‘Depressed Classes’ in Provincial and Central Legislative Councils ?

(A)
(B)
(C)
(D)

aear 1929 # f=fafed ® ¥ f6g agewd & 9ra

Lucknow Pact
IGandhi — Irwin Pact
Poona Pact

None of these

Mo 9 U R 2

(A)
(B)
(C)
(D)

Are H3ceen
dre eats
RIEEAEE

i & B

& fau ‘SHiHEd ©<q &

Which one of the following Viceroys announced a vague offer of ‘dominion

status’ for India in October 1929 ?

(A)
(B)
(C)
(D)

Lord Mountbatten
Lord Dalhousie
Lord Irwin

None of these

POk
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Pt & ¥ S T omTiEE W @ 2

(A)  HE

(B)  dfam

(C) fe&=

(D) -<FATER

Which one of the fullmf.ring is a non-metallic mineral ?
(A) Lead

(B) Copper

(&) I

(D) Limestone

frafafag ¥ ¥ S99 TR 980 & TR TOuFET & ®9 § 39T § ?
(A) T

(B)  siciehral
(C) ®TeR
(D) &eEE

Which one of the following cities has emerged as the ‘electronic
capital’ of India ?

(A) Delhi

(B) Kolkata
(C) Bangalore
(D) Hyderabad
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fhg MR W e &9 gEee R el &l & &9 § faufsg 28 2
A) IR F '
(B) anfas wfafafy & @wE
(C) 3T®i & @i
(D) 3uW ¥ fqaifsa gfusl & de&n
On what basis is the industrial sector classified into public and
private sectors ?
(A) Employment conditions
(B) The nature of economic activity
(C) Ownership of enterprises
(D) Number of workers employed in the enterprise
frafafaa T=ai & § 59 & § 958 T a9 s @ 2
(A) T
(B)
(C) FAleH
(D)  TSd
Which one of the following states has the highest road density ?
(A)  Goa
(B) Kerala
(C) Karnataka
(D) Gujarat
7 P10




frafafaa o9 § 9 f59 & § 99 997 & 499 USHiGS o & &9 § (e
3g?

(A)  TSd

(B) SHles

(C) HaN®
(D) A RY

In which one of the following states does ‘Shiv Sena’ exist as a
regional political party ? '

(A) Gujarat

(B) Karnataka

(C) Maharashtra

(D) Madhya Pradesh

frafafga gawsli § & SFE & 999 9E0 g0 9G-S SEGE g &)
YeH F A g 2

(A) < &1 9H

(B)  ©§UT-UH

(C) = fug

D) T ¥ faw 4w

Which one of the following facilities is offered by the Election
Commission to a recognized political party ?

(A) Party Name

(B) Manifesto

(C) Election Symbol
(D) Election Funds



11. frafafaa <o & @ 59 & & aAW@ & qo § dead & watiea 7@ &

12.

32/1

St 8 7

(A) TRy
(B) uife™
(C) 4t o=
(D) 9Ra

In which one of the following countries is democracy not preferred

over dictatorship ?

(A)
(B)
(C)
(D)

frfafag 29 4§ ¥ 59 = § 9919 SR J0Tel g 7

(A)
(B)
(C)
(D)

Which one of the following

Bangladesh
Pakistan

Sri Lanka

India

i

Hel4

L=

SfeTuT 3Tk
GESUGE

government ?

(A)
(B)
(C)
(D)

Congo
Sudan
South Africa

Tanzania

countries has a federal system of

PoTe.



13. frafofeg @ § & 59 & & 9% 359 X 9 =9 ¥§H &d §

(A) d9d @l
(B) =1 @il
(C) =it 37afy it |afy s

(D) a@mmﬁﬁﬁuw&

Banks provide a higher rate of interest on which one of the following
accounts ?

(A) Saving account
(B) Current account
(C) Fixed deposits for long period

(D) Fixed deposits for very short period

14. sd ¥ ¢k wed ofErl & fou frefafes § ¥ =0 1 g &a 6 8 2
A) st am |

(B) 3HERE &5
(C) WRESK
(D) SO

Which one of the following is the main source of credit for rich urban
households in India ?

(A) Formal sector
(B) Informal sector

(C) Moneylenders
(D) Traders

32/1 10



15.

- 16.

| i
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frfafad & ¥ st o onfds & &t faowa 787 8 2 1
(A) 3IF R FAY qF FI§ F TG <A 9EA § |

(B) @R I 9 HF H oeielgy &= & 3fafa < & @ |

(C) 37 fava wim gfaumd suyeey € |

(D) 3% WRfis uig auf dF FI1§ F T A1 v 2 |

Which one of the following is mot a characteristic of ‘Special
Economic Zone’ ?

(A) They do not have to pay taxes for a long period.
(B) Government has allowed flexibility in labour laws.
(C) They have world class facilities.

(D) They do not have to pay taxes for an initial period of five years.

frafafaa § 9 fFus fou vee-fag (S) Eiaaes’ &1 3uan f&ar srar 2 2 1
(A) FHF 3IAE

(B)  3mvqmoT

(C) fostet &1 9ME

(D) el W

‘Hallmark’ is used as a logo for which one of the following ?
(A) Agricultural products

(B) Jewellery

(C) Electrical goods

I (D)  Electronic goods

TTEA & THIHOT FHI UHHAT H FUA FHIfTC | 3
s |
fgaam # S foem & fag s g0 38 T R dF I & avig
HifSTT | Ix1=3
Describe the process of ‘Unification of Italy’.
OR

Describe any three steps taken by the French to develop agriculture
1n Vietnam. |

11 4% 81O



18.

19.

20.

21.
22.

23.

24.

25.

26.

32/1

37 uffeafadl &t sren Fifse, 598 TSt 3 1931 & g9faqy 3Eq e &l
g o= &7 fAuig foar |

Explain the circumstances under which Gandhiji decided to call off the
Civil Disobedience Movement in 1931.

Al 3R T UM N STHREE IAT F& FE el 8 2 I A FRO WE
FIfSTT | Ix 1=

Why is iron and steel industry called the basic industry ? Explain any
three reasons.

IR (& ER O FE-yoTet ¥ fRT T gERl @ e i | 5

Explain the improvements made by the Indian Railways in its
functioning. '

aﬁwﬁaﬁ%ﬁﬁﬂﬁgﬂﬁaﬁ(ﬁﬁ‘fﬁaﬁﬁ"ﬁmmaﬁml 2+1=5

Mention any four merits and any two demerits of air transport.

U & ‘AT & AU g TR ASHT Qe & q Hifog |

Describe the ‘second popular movement for democracy’ of Nepal.

@E T IR Iidied [FF YER TS W @ Sed ¢ 2 & 39l 9fed wE
T | 3
How do pressure groups and movements exert pressure on politiés ?
Explain with an example. *

IRd § U9 W09 J9a1 &919 ToHias oo (99 TR G5 3R i H Teed

FH H AMEE A § 2 I §ied WE T | 3x1=3
How do state or regional political parties contribute in strengthenmg
federalism and democracy in India ? Explain with examples.

fovg % 39 W 59 YOR diHad F GAAE TR a9 & gA H WA W R
€ 7 3 gfgd WE SIS | 3x1=3

How are some countries in the world facing foundational challenge of
democracy ? Explain with examples.

foeelt =R d9R & fafya 2 & 99 9 59 THR edr ® & ? 3SR gied
oWy Hifsw | 3x1=3

How has foreign trade been integrating markets of different countries
in the world ? Explain with examples.

Can

ﬁ

Cun

12



27.

28.

29.

30.

31.

32.

32/1

“gaar R HUR e 4 fafm Sl % 9" SORl SR Eni % yER ¥ g@
gy fig 2 17 39 &9 F gfE S ' 3

“Information and communication technology has played a major role in
spreading out products and services across countries.” Support the

statement. %

TIORGOS, 69 YER GRSl $ Aeg S € 2 diF ade W Fi |

_ IxI=3
How do ‘Consumer Protection Councils’ help consumers ? Explain three
ways.

39 fifeafadl o @y sifse, 59 g aeR A T A & T Fa &1 Ix1=3

Explain the circumstances under which markets do not work in a fair
manner.

FOE A F d9 s TEEE & e U9 &A & fau w sifeEl R

Y& foe U 5 SR 3uE & auie i | 4x1=4
G

fergqam & sufraeh femn & o ¥ SRS & o < 99 g F=& 2 39A

T IR # ' 1 & fau 59 R i T ? Wy s | 1+3=4

Describe any four measures which were introduced by the French
Revolutionaries to create a sense of collective identity amongst the
French people.

OR

Which were the two major problems before the French in the field of
colonial education in Vietnam ? How did they try to solve these
problems ? Explain.

ool WaRm TS FA 4 2 fagifedi @ st & e 9 3Rd @ § 3 qfiem
S WE FET | 1+3=4

Who was Alluri Sitaram Raju ? Explain his role in inspiring the
rebels with Gandhiji’s ideas.

af s d9EE &1 O & IEvESE & 2 @hae SEEEl & g & R
afeat = @y FHfSw | 1+3=4

Why is conservation of mineral resources essential ? Explain any
three methods of conserving mineral resources.

13 P. Ok



33.

34.

39.

32/1

gl IR dle H WF ST, A dAFdEs Fa™d gaHar 3 e #t F9
Y gud @ F dx]1=4

Explain any four ways in which demoﬁracies have been able to reduce
inequality and poverty.

IR § HIE TEA G U & =i Eidl S SEoTet W OAsR {@dt 2 2
T T H FEVTCA F WY FAC | I1+5=4

Which government body supervises the functioning of formal sources
of loans in India ? Explain its functioning.

g T - A 3R B, WRA & QU T TeEifaE @-AEET (I8 17 W) W 3ifEa
for T § | 3 IOl & fefdfed e & Aee ¥ YgEiHu 3R 39% H@l AW
At W e T s W) fafEn 2x 1=}
A, 9 WH, @ YRGE TEE FE9 & AavE 1927 ¥ g3 47 |
B. @ WM, W& §fewg 7E; e yW ga o |

A4l
ﬁmﬁ@aaﬂﬁm%g@mﬁm%@mﬁﬁ(wwmmmﬁa
¥ foEny 3R 39% w@ 9W fafen . | 2x 1=
(i) 99RA - 98 WHE, @ Ad & Qdl & ad fGEEl &1 SNiddd g3 |
(i) WS - 9@ W©HE, T FEH F FTEEE g3 |

Two features — A and B, are marked in the given political outline
map of India (on page 17). Identify these features with the help of
the following information and write their correct names on the lines
marked in the map : '

A. The place, where the Indian National Congress Session was held
n 1927.
B. The place, where the Civil Disobedience Movement was started.
OR

Locate and label the following features with appropriate symbols on _
the same political outline map of India (on page 17) :

(i)  Champaran — The place where the movement of Indigo Planters
took place.

-(ii) Kheda — The place where the Peasant Satyagraha was held.

14



36. o & A, B 3R C 9WRa & fu U yoHifas W@-aMtaT (Y8 19 W) | 3ifFd
fer T § | 39 ol @ fAefafed SHEd 8 Aee ¥ YgEIT 3R IS §E W
nHfeE W @i T e w)fafa Ix1=3

A, IYF GH

B. giway dafe ue
C. UPY "9emmi §& 7 &l 3ff<9 ©IA

AGdl

frfafad @ull & WIRa & 36 TsHias W@-qHed (78 19 W) W 399 f9al 4
3ifera Fifsw 3R 395 W fafaw . Ix1=3
() faemé - e 3 w9

(i) - s A w0

(iii) wHSal - X TH

Three features A, B and C are marked in the given political outline
map of India (on page 19). Identify these features with the help of
the following information and write their correct names on the lines
marked in the map :

A. Mica mines
B. Software Technology Park

ks Terminal Station of N.H. 7
OR

Locate and label the following features with appropriate symbols on the
same political outline map of India (on page 19) with appropriate
symbols :

(1) Bhilai — Iron and Steel Plant

(11) Narora — Nuclear Power Plant

(iii) Kandla — Sea Port

32/1 | 15 ' P.T O



Az : frefifad 797 #997 SegiT qian¥al & e 97 & 35 3R 36 & ©H
W& :

Note : The following questions are for the Blind Candidates only, in
lieu of Q. No. 35 and 36 :

35. (35.1) fadmr 1920 ¥ XA TP U9 & gC AHEYE & ©WH H AH Ta3C |
(35.2) {9 W@H W Gg"g 3w NS I JEA & 2 1+1:

(35.1) Name the place, where the Indian National Congress session was
held in September 1920. |

(35.2) At which place was the Civil Disobedience Movement started ?

36. (36.1) o &ier 3 T 6997 o9 U9 o fg g ?
(36.2) Hlesd TY H fryg f&d ws it s &7 99 Jq=U |
(36.3) WRA & Had IOl ¥g@ WA U4 H AH FARY | 1+1+1

(36.1) In which state is Bhilai Iron and Steel plant located ?
(36.2) Name any one Technology Park located in Karnataka state.

(36.3) Name the southern-most major sea port of India.



Y39 §. 35 W9 35 (Agan) & fau

Outline Map of India (Political)

For question no. 35 and 35 (OR)

I T 1T R (i)
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¥39 9. 36 TE 36 (Agan) & foau

Outline Map of India (Political)

For question no. 36 and 36 (OR)

WA &1 T@T- AAs ()




